
m

2. Esegui le equivalenze.

 17,4   m = .............hm

 156 mm = .............m

  56  dam = .............hm

    1,5 hm = .............km

    23,7 m = .............dam

       6 hm = .............m

    17,5 m = .............cm

9,27 dam = .............m

56,05 km = .............dam

  4,3 dam = .............m

1. Completa la tabella

3. Calcola in colonna sul quaderno

78,112 + 0,29 + 15 =

1,275 + 14,96 =

21,8 x 0,24 =

176 - 15,384 =

12 - 8,59 =

180 : 12 =

910 : 26 =135 x 1,52 = =
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